1.

2.

M/4H

PAPER-III
WOMEN'’S STUDIES

Signature and Name of Invigilator

(Signature)
(Name)
(Signature)
(Name)

6

Time : 2 %/, hours]

OMR Sheet No. :

Roll No.

(To be filled by the Candidate)

(In figures as per admission card)

Roll No.

(In words)

[Maximum Marks : 150

Number of Pages in this Booklet : 40

Number of Questions in this Booklet : 75

Instructions for the Candidates

wdenteat & oo e

1. Write your roll number in the space provided on the top of | 1. 37 y= % SR Fad ©H W 0T I7 T=R fAf@u |
this page. _ _ . . 2. TG U § qEeRy T T |
2. This paper consists of seventy five multiple-choice type of | 3 TR BH W, Y- T & & SR | geet
questions. o _ ar o et - e qg 3E!
3. At the commencement of examination, the question booklet St % T 3 T—rraﬁ St T 34'0!‘5?1 o %
will be given to you. In the first 5 minutes, you are requested () W W For et w
to open the booklet and compulsorily examine it as below : . | 1%‘_"% §_§ I @WW g W
(i) To have ?ccesr? todthe ?lﬁgstion Bookletbteartoff thei A ~:r ¥ |
aper seal on the edge of this cover page. Do not acce ..
E b%oklet without sti%ker-seal and dcr)) n%t acceptan ope?n (i) ﬁ %ﬁ? w m G ;}a;%qa o
ooklet.
ii) Tally the number of pages and number of questions T ilﬂﬂPim TE'/II‘FT %W g QART AT
® in t%e booklet with tF;legmformatlon prlnt&?d on the ™ E A o T e ot fRet ot yER @t
cover page. Faulty booklets due to pages/questions FAfeuet gt WeR T & q9r W 1T 3‘@
missing or duplicate or not in serial order or any AT 3T WA T {q{-} &t mgﬁa’m qae
other discrepancy should be got replaced immediately T U U ufe fime & s | Sae e T
by a correct booklet from the invigilator within the A TR TITURAHT AT o SR T T STy
period of 5 minutes. Afterwards, neltherthe Question arﬁﬁaa T far s
Booklet will be replaced nor any extra time will be (iii) 3 St % 9 W‘Eﬁﬂw 1 597 OMR 5% UT 3i%a
given. S o
(iii) After this verification is over, the Test Booklet Number ﬁ $fIT OMR 3 1 Tt 36 Fe- W hal
should be entered on the OMR Sheet and the OMR 3 &
Sheet Number should be entered on this Test Booklet. | # 5 Wﬁ;ggww = ﬁ?%) (2), (3) = (4) Ei\g
4. Each item has four alternative responses marked (1), (2), (3) | ST Tl ST b I HIHT HreAl BT
and (4). You have to darken the circle as indicated below on e =Arer feran T @
the correct response against each item. @ @ . @
Example: (D @ Tﬂﬁh‘@) TE IWE |
where (3) is the correct response. 5. U % Y haet U gReenT & ST {38 T OMR Ul 0¥
5. Your responses to the items are to be indicated in the OMR # 3ffera T € 1 AT 3T OMR W% R 53 7 g1 o 3Teman
Sheet given inside the Booklet only. If you mark your TRt 317 T W 3R TaeAifehd & €, O SHbT Hodish
response at any place other than in the circle in the OMR TR & |
Sheet, it will not be evaluated. 6. =Y @ Trﬁr 5wl 1 SFuEE g |
6. Read instructions given inside carefully. 7. %=ar %M (Rough Wor %:r&lﬂ Elﬁ?lw ﬁF A T8 W AL |
7. Rough Work is to be done in the end of this booklet. 8. dfT 3 OMR W% W TF % AT AT AW, A
8. If you write your Name, Roll Number, Phone Number or put TR, B W 71 g ot v fee TFRT@ 31Tq7:b°r TETH &
any mark on any part of the OMR Sheet, except for the space T, Sifrd R ¥ oTHeT g WIS U A ¢, AT HBIE
allotted for the relevant entries, which may disclose your =T 31{71'[\%1?{ WY 6B T o §, 9 o ifed e ™
identity, or use abusive language or employ any other unfair I B HSAT A7 GFT SR ¥ a8 a g & o
means, such as change of response by scratching or using I Tt o ST @ ©
white fluid, you will render yourself liable to disqualification. [ ¢ syepy wéier w9 28 w T OMR T e TRRT
9. You have to return the Original OMR Sheet to the invigilators |~ Sy HEAEF ¥ 3 TN TN a3 ST T T aT
at the end of the examination compulsorily and must not T TR T R AR | EE 37T TR qu W WSFFW
carry it with you outside the Examination Hall. You are, T OMR T &5 Wuﬁ I T o ST W 5
however, allowed to carry original question booklet and a7 CBSE. o1 T T AT TR W A
duplicate copy of OMR Sheet on conclusion of examination. 10. A =\ BRT HEH
10. Use only Black Ball point pen provided by C.B.S.E.
11. Use of any calculator or log table etc., is prohibited. 11. 3 (’ﬂﬁua;%” ?’1 HITIRe (a;“aﬁm) AT T ST H
12. There is no negative marks for incorrect answers. I s -
13. In case of any discrepancy in the English and Hindi versions, 12. 719 < D 3 '
English version will be taken as final. 13. q%ﬁ ¢ WﬂE?IIT F‘W o g foric @, ot s foe

J-74-16 |

P.T.O.



WOMEN’S STUDIES
Paper - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1. Which of the following is correctly matched ?

List—1
(Theoretical
Perspective)

I.  Functionalist
I1. Conflict
I1l.  Feminist
IV. Interactionist
Codes :

I i1l
1) B C D
2 A°. D B
3 B A D
4 C D B

w

>0 0 >

List— 11
(Emphasis)

Gender distinctions and *“doing gender” are reflected in
people’s everyday behaviour.

Gender differentiation contributes to social stability.

Gender Inequality is rooted in the female-male power
relationship.

Women’s subjugation is integral to society and social structure.

2. Which one of the following pairs is correctly matched ?

List -1

(Feminist Perspectives)

I.  Liberal Feminists

Il. Social Feminists

I1l. Radical Feminists
IV. Marxist Feminists

Codes :
|

L A
(2 D
@) B
4) C

>> 0
w O >» O

Paper-I111

<

OO wOon

List—11
(Ideologies)
A. Reproduction as the cause of women’s oppression.
B. The socialization of domestic labour versus wages for
housework.
C. Exploiting women’s work as women and capitalism.
D. Dismantle discriminatory laws and social norms
against women.
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Hige rea=

aoAaA — 11
AT TH U H U= (75) Sg-faehedd U € | Wede e % et (2) 3T E | |eft ue e €

1. TTefciad 5 | W8l &l R & :

= - | = - 1
(Sgiferen sraemom) Q)
|. A A. TR S5 a9 Sfafe % Hal-cHeer § Ud- 1 IS
I, go B. i SSvTe TSR T § Tedit
1. FRiamsr C. TIfTeh ST o ST TH-I5T & vt Faei | fAfed § |
IV. ST=fhamasl D. Hiecllsl ST TR0 THST Tt FTHITeh T o ST 3 & |
BT
R | [ I \V/
1) B C D A
2 A D B C
3 B A D C
4 C D B A

2. TyeAfofed & 9 8 o1 g W@ w9 ¥ galerd € 2

it - | = - 11
(AT gf) (ferermeaman)
|,  SSRARER A.  US HEeT-SHT 1 SHRT
Il. SO TRaE B, el ST S GHISHERROT ST BRe] S & feld aisiiaes
1. 37 TRaR C. TieaT 19 Sl "igell & €9 | q°T YSiieng o €9 H Iy
IV. AeaRl AREE D, Aieerst % Ufd S8-91Equl AT 9o e
i AT B g
%
| imnua v
) A B D C
@ D C A B
B B A D C
M C A B D
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3. Which of the following are goals of UGC Centre’s for Women’s Studies ?

l. to contribute to the visibility of women’s lives through designing syllabi and
curriculum, incorporating gender component in Higher Education and create gender
sensitization to bring attitudinal changes.

Il. to promote research, action research in certain fields of the area and to generate
resource and documentation of materials.

I1l. to develop Pedagogical practices and teaching tools and extend multi-disciplinary
research.

IV. to collaborate and coordinate network with NGOs and other premier research
institutes at national and international levels.

Codes :
(1) Tland IV are correct. (2) I, Il and Il are correct.
(3) land Il are correct. (4) 1,11, 1l and IV are correct.

4. Which of the following are correctly matched ?

List—1 List— 11
(Article of CEDAW) (Issue covered)
I.  Article 12 A. Political and Public Life
Il. Article5 B. International Representation and Participation
1. Article 7 C. Health
IV. Article 8 D. Cultural Practices
Codes :
| (| I | I B AV
1) B C A D
2 A D B C
B3 ¢C D A B
4 C A D B
5. Which one of the following pairs is correctly matched ?
List—1 List— 11
(Movements) (States)
I.  Nav Nirman Movement A. Maharashtra
Il.  The Anti Price Rise Movement B. West Bengal
I1l.  Naxalbari Movement C. Andhra Pradesh
IV. Srikakulam Movement D. Gujarati
Codes :
| imn 1 1w
1) D A B C
2 D B C A
By C A B D
4 A B C D
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3. frefaiad § ¥ S gl & Aieel 3TeaH &5 & ol ¢ 2

I Oea-foaeT U UIegEdl H STl A, STE RN § ik (SeY) Wees S THiae
FA SR TG T5eTd A & o0 i Yofeahal o o AT | Aigensti &t SaRmEr
I g1 § IR ST |

1. =9 fou & $qug &5 4 REd ud v REg & 9grer <1 31 IiE) & &id b ToiaT
TR T |

1. Ferem-foeereh Uzt Ta foretor are foehlad sheT qen Sgiauae STHeM i Jgel 3T |

V. TR AT (Tsiell) iR UEE Ud iaiead &Rl o 37 9 e S&IFT & |
NENICRSEIGI ﬁ?ﬂdqéhwwm|

*
(1) 1RIVIEE | (2) L1I3RITEE |
(3) 13RI TEE | (4) L ILII3RIV I |
4.  FreAfeiEd 8 ¥ Wl & 9 B 91 Al § 2
=it - | =t - 1
GIEEREES €0 (zrifvrer 72)
FTT)
| =T 12 A. TSHIE 3R A STia
Il. =5 B. SR watdca Tel AHTRRI
ll. =77 C. w@eH
V. =% 8 D. WieHias gt
%
R T [ I \V/
1) B C A D
@ A D B C
B3 C D A B
4 C A D B
5. fefeied 7@ 9 @ 39 91 9el &1 F gafed € 2
= - | = - 1
(rfETer) (r=3)
|, FEHT Ao A. TERTS
1. meme fodiedt gl B, ufvem S
I, FoeramR! AR C. 21y w_er
IV. siihigper STge D. R
%
R | [ I \V/
1) b A B C
2) b B C A
@3 C A B D
4 A B C D
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6.  Which one of the following pairs is correctly matched ?

List—1 List—11
(Child Protection Act/Bill) (Year)
I.  National Commission for Protection of Child Right A. 2009
Il.  The Protection of Children from Sexual Offences B. 2007
I11.  Juvenile Justice Act C. 2000
IV. Integrated Child Protection Scheme D. 2012
Codes :
I inm 1w
1 B D C A
2 B C D A
3 ¢C D A B
4 D C B A
7. Which one of the following pairs is correctly matched ?
List—1 List—11
(Authors) (Books)
I.  Altekan A. Indian Women
Il. Devika Jain B. The Patriarchy
I11. Devaki Jain C. Women’s quest for power
IV. KamalaBhasin D. The position of women in Hindu civilization
Codes :
I inm 1w
1y A B C D
2 b C A B
3 B A D C
4 A D B C
8.  Which of the following sections of Indian Penal Code (IPC) are correctly matched ?
List—1 List—11
(Section of IPC) (Offence)
I.  Section 313 A. Buying minor for purposes of prostitution
Il. Section 373 B. Capturing the image of a woman engaged in private act
and watching her
I1l. Section 326A C. CAUSING miscarriage without women’s consent
IV. Section 354C D. Voluntarily causing grievous hurt by use of acid, etc.
Codes :
I inm wv
1 ¢ A D B
2 B A D C
3 ¢C D A B
4 A B C D
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6. TTeAfciREd § 9 i O I8 T & F Gl ¢ 2

= - | = - 1
(aer \eruT srfafam/fae) (@)
| ST 16T ST TRI0T 3= A, 2009
II. et ot A TR © S B. 2007
1. TR =g stfatTeg C. 2000
V. Ui aTet SReT0T ST D. 2012
ETE
[ [ I TV \V/
1) B D C A
2 B C D A
By C D A B
4 D C B A
7. TAfcRad g ° 9 U Wl g i geferd ]
= - | = - 1
(FrE®) (T&Th)
. 3T A. zfezm faua
II. femrs= B. T Afcam
1l <&t S C. o1 e ® IR
V. SO 9= D. T Ui i o8 e 1 iy fafaamesem
&
I [ I 1T \V/
1) A B C D
2 D C A B
B B A D C
4 A D B C
8. freTeiad WRd™ dT Giedm (SMEUH,) & i § IR=ds T&l 7 § Al ¢ 2
e - | = - 1
(VR g |igaT &1 uRw ) (3TuRTE)
|. ui=w 313 A. EIEE & 9vE-ga % fau @lig
II. Ui 373 B. fodl afeet =t fTt S O Gormar & q@ik
T T 3 @
l1l. uR=aT 326A C. féet = Teufd & femr miur ST
V. uR=sg 354C D. ol ST S & §RT e S Tl
&
I [ I TV \V/
1) C A D B
2 B A D C
B3 C D A B
4 A B C D
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9. Which of the following pairs is correctly matched ?

List—1 List— 11
(Books) (Authors)
I.  Aroom of one’s own A. Dale Spender
Il.  The Second Sex B. J.B. Elshtain
[1l. Public Man Private Women C. Virginia Woolf
IV. Man made Language D. Simone De Beavoir
Codes :
I inu v
(1) C D A B
2 C D B A
3 D A B C
4 A B C D

10. Which one of the following pairs is correctly matched ?

List—1 List— 11
(Concepts) (Explanation)
I.  Gender blindness A. Failure to recognize that gender is an essential

determinant of social outcomes.

Il. Gender Mainstreaming B. Practice of fairness and justice in the distribution of
benefits, access to and control of resources.

I1l. Gender Equity C. Integration of gender into the design,
implementation monitoring and evaluation of
policies and plans.

IV. Gender Equality D. Equal treatment of women and men, girls and boys
to enjoy the benefits of development
Codes :
| imn 1 1w
1) A B C D
2 B C D A
3 A C B D
4 C D A B

Paper-I111 8 J-74-16



9. frefoifed & ¥ ®F-91 38 gHferd ¢ 2

= - | = - 1

(TFTF) (i)
|, U EH 3 o 3T A AT
1. af Hhe g B. Sal Tewed
[1l. Ofsster #9 WTEee See C. asiitar g%
IV. &9 TS oo D. @mHA St e
FE:

| imnu v

) C D A B
@2 C D B A
B D A B C
W A B C D

10. fr=foafad & @ SH-91 37 gafd € 2

e - | =t - 11
(TeheuATd) (=3
| it foasmer A. TG 1T F G4 i [a%edn {6 fom qmfses oot o o
e faRe € |
. T g aRia A B, feqemdt & foeror, S@eAr & ufa sihwmgar we s |
fromeTar ue = e |
1. wifTer amegar C. Hifqal ud ASHreT Ht MIHeTT, e, ST ue
odiehT | foTTT 1 Tehlehar |
V. <ifite Femear D. Tow™ & feaamil & ®ERT 3¢9 H ARns UTd qo,
ASTRAT 3T TgHT & Uid THH e |
FT
| i 1m 1Iv
) A B C D
@2 B C D A
B3 A C B D
4 C D A B
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11.  Which one of the following pairs is correctly matched ?

List— 1
(Author)
I.  Henrik Ibsen
Il. Louisa May Alcott
[11. Virginia Woolf

IV. Charlotte Bronte

Codes :

| i m v
1) b A B C
2 A B C D
@3 B C D A
4 A B D C

List— 11
(Book)
Little Women
A room of one’s own

Jane Eyre

o o w »

A Doll’s House

12.  Which one of the following pairs is correctly matched ?

List—1
(Authors)

I.  Gunnar Myrdal

. Karl Marx
IV. J.K. Galbraith

Codes :

| imn 1 1w
1) A B C D
@) b C B A
B3 Db C A B
4 B C D A

Paper-I111

A
. W.W.Rostow B.
C
D

List— 11

(Books)
The Poverty of Philosophy
The Nature of Mass Poverty
The Stages of Economic Growth

The Asian Drama

10
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11, Fr=fafad 5 9 SF 91 38 T gaferd & 2

it - | =it - 11

(i) (T&TH)
| BN 3aed A. fofeet faua
Il. <=9 ¥ Teishie B. T®Y 3 a=F I
1l afsar sk C. SH 3N
V. wmieie stie D. T Ecd gy
HT !

I TR 1TV

1) Db A B C
2 A B C D
3 B C D A
4 A B D C

12. Fr=tafad 5 9 SF 91 38 W& E 9 § Al ¢ ?

=it - | =t - 1
(viEr®) (q&Th)
l. TR HEA A. T UEE 3 Theaw
Il. =g T=g IE B, T R 3% A qiae
1. et ARy C. T SIS 3 ThATHS T
IV. . %, Tetse D. g uivmEe g
%
I T 1 TRV
1) A B C D
2 D C B A
B3 D C A B
4 B C D A
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13.

14.

15.

Which of the following pairs is correctly matched ?

List—1 List— 11
(Concepts) (Explanation)
I.  Usevalue A. The price at which an asset would trade in a

competitive auction setting.

Il.  Productive Work B. Producing goods and services that do not have

monetary or exchange value.

I1l. Market value C. The utility of consuming good and the want —

satisfying power of goods or services.

IV. Non-productive work D. Producing goods and services with the help of factors
of production that have monetary or exchange value.

Codes :

I i u W
1) C D A B
2 A B C D
B B A D C
4 D C B A

Assertion (A) : Child abusers wear a mask of conformity and plan their strategies to win

trust and deflect attention from their secret.

Reason (R) : Home is usually a central locale of sexual abuse and rarely are abusers

complete strangers.
Which of the following is correct ?
Codes :
(1) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(2) (A)iswrong, but (R) is correct.
(3) Both (A) and (R) are correct and (R) is the correct explanation for (A).
(4) (A)is correct, but (R) is wrong.

Assertion (A) : Globalisation has only widened gender disparity and increased

feminisation of poverty.

Reason (R) : The globalization has taken away whatever control women had over

traditional occupations and better avenues of employment.
Which of the following is correct ?
Code :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(3) (A)is correct and (R) is wrong.
(4) (A)iswrong and (R) is correct.

Paper-I111 12
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13. fr=fafad & @ SH-91 378 Gafd € 2

= - | =it - 11
(TeheaTd) (=aTe=)
|, STEMTE A, O SIEd SH W UH IR S T Wiqet e aiee | |iet
BT |
Il. SORHEHE B, UH Gl R At H SeAR AT S Hifge A g
T AT |
ll. &R gea C. a& % ST i ST SR T&I3T a1 Y13t S HT Sl FATHREH
TR |
IV. SFR® ®@ D. 3ICURA & FRHI ! Tl | TH STl Te Farsti Sl e Hel
TSet Tifser a1 fafma e el € |
B :
| (| I | . AV
) C D A B
@ A B C D
B B A D C
4 D C B A

14. fweE (A) : S=ai % QY JAGER T Ueh TN &l § & ShT [a9amg Siid Y, TS & e
A BT & TMOEaT  9EehT T BT € |
A% (R) : T YRGS UGS 1 Uh hald T § STaT Fhed FHIATEAT FHIFIR & qoT 3Tt gt
T
freferfaa o @&t &1 == %
(1) (A) = (R) 31 Tl &, & (R), (A) Ff &l e @i & |
(2) (A) 7o &, fBq (R) W& € |
(3) (A) @@ (R) A1 W&l & @ (R), (A) F T& AT E |
(4 (AT E, g (R) T T |

15.  Af¥eBee (A) : JHSHIHRIT = AT STHHAT i WIS T TgET & T4 TRIs BT ST fhaT & |
% (R) : YHSAIHOT = Afgerrel T TWONTd STSTTehT & FTEFT qe1 ISR & gk 3TaaR! 0 ST
2T SIgd FE0T o, 3¥ off TE A |
ffafed 5 9 = a1 @&t € 2
(1) (A) T (R) 34T W&l & qm (R), (A) & Tel =g |
(2) (A) T (R) Tl g, 7 (R), (A) i Tel = el ¢ |
(3) (A) T g, v (R) Toid & |
(4) (A T € q= (R) W& € |

J-74-16 13 Paper-111




16.

17.

18.

19.

20.

21.

Assertion (A) : In India Abortion is legal, but millions of women each year resort to
clandestine abortion.

Reason (R) : The cultural preference for sons is so high that many women seek abortion
following amniocentesis.

Which one of the following is correct ?

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are wrong.

(3) (A)is correct (R) is wrong.

(4) Both (A) and (R) are correct and (R) is the correct explanation for (A).

Who of the following has suggested ‘feminist environmentalisms’ as an alternative
concept to Eco feminism ?

(1) Maria Mies (2) Bina Aggarwal

(3) Francoise d’Eaubonne (4) Vandana Shiva

In 2016, what percentage of all CEOs of Fortune 500 were women ?
(1) 40 (2) 4.4
(3) 46 (4) 5.0

Who made the following statement in the conclusion adoption of the Paris Agreement
under the United Nations Framework Convention on Climate change (2015).

“The Paris Agreement recognises the social, economic and environmental dimensions of
climate change, it falls short of being transformational. Women had expected their needs
and contributions as innovators and agents of change to be explicitly acknowledged by
gender responsiveness in the key sections on finance, and technology development and
transfer, and that data and monitoring of climate action would be gender sensitive.”

(1) Vandana Shiva (2) Lakshmi Puri

(3) Phumzile Mlambo-Ngcuka (4) Babatunde Osotimehin

The United Nations Commission on the Status of Women has members.
(1) 53 (2) 47

(3) 45 (4) 29

J.S. Mill and Harriet Taylor had the difference of opinion on the following aspects for
liberation of women :

I.  Partnership in the labour I1.  Education

I1l.  Co-equal Share IV. Civil Liberties
Codes :

() I, 1, 11, 1V are correct. (2) 1, 11, I are correct.
(3) I, 11, 1V are correct. (4) liscorrect.

Paper-111 14 J-74-16



16.

17.

18.

19.

20.

21.

AR (A) | IR T T AT &, Sk Ufded orat Afeetd =it i@ myard s € |

% (R) : TTehl & o0 Wipiceh ST a1 31Uk & foh 31 Afeeit Uraideiad & Suid
T HYET e € |

fefafea § 9 &9 W&l 8 2

(1) (A) 3R (R) IHT T & |

(2) (A) 3R (R) TH Tord € |

(3) (AT E, (R) T & |

(4) (A) 3R (R) I el & 3R (R), (A) &l Tel A= E |

Frfotfiaa ® 9 fram o8 g f3a € o TRIETE! qaiarvErg gt TREE & fashed i STaeron & 2

(1) = 2" (2) & sTRET

(3) WEEH T A (4) =T R

2016 T, I 500 FUAT T AfeeT T FRIGRT SEeREr (Hsiisn) § wfeetal st ufaerd fohamr a1 2
(1) 4.0 2) 4.4

(3) 46 (4) 5.0

STeTaTg URac o oo | G T T ST (Fwad)-2015 & STaid U THeic i 39
& IR Y fope et & w0 | ffefiad s fear o

“Uf ST SToTaTg TR o |THISTeh, 3T Y JaTeRoT Fadl STt bl JHT &, AfhT I8
qREd & AT H 3YULTeT U T T8l SaRAT | Higenad i 3TUetl off fof Fai=iueh qr uRed= &
FRF & T H TR SMEATIHATS T AEH I T T T ARIAT &1 ST | fomd weh Wi
foehr qe EATTROT o T 9T § SIEI-3TFRRAT hl W €9 ¥ =TT & S q°n Soaryg wE
ST Bl G2 Afeetrstt & ufd Gag—sier e 17

—

(1) | EEEIANG (2)

(3)  pHHCt-TAIET b (4) RS SEerEAien
T AL o “FHARH 31 § L 3 g g § WEE |
(1) 53 (2) 47

(3) 45 4) 29

S, e 3R e 2or & | AfeetraT i STt W FHfaiad Teejsti W - of -
TR c: =

. ferem

. Te-gqF E@RR

V. SR e

ET

@ LNV e @) LI IEEE
(3) L UL IV & E 4) 19T

J-74-16 15 Paper-111



22.

23.

24.

25.

26.

27.

Which of the following is correct statement about survey research ?
(1) Itissaid to be invariably context blind.

(2) Itisalways conducted by specialists and professionals.

(3) Itis flexible and does not require a precise study design.

(4) It provides enough scope for honesty and care for context.

Under which Article of the Constitution of India, State is required to make provision for
securing just and humane conditions of work and for maternity relief ?

(1) Article 38 (2) Article 39

(3) Article 42 (4) Article 46

Who among the following founding Mothers of India’s Constitution said while opposing
the reservation for women : “It will be an impediment to our growth and insult to our very
intelligence and capacity” ?

(1) Hansa Mehta (2) Begum Aizaz Rasul
(3) Rajkumari Amrit Kaur (4) Renuka Ray

Arrange the following in the correct sequence for structuring the research in social
Services :

Use the code below :

l. Plot Study

Il.  Selection of research techniques
I11.  Defining research problem

IV. Review of literature

Code :
@ v, L (2 IV, LN
(3) IV, UL 4) HLIv, I

What are the reasons for neonatal deaths in our country ?
Which one of the following is incorrect ?

(1) Pre-term birth complications.

(2) Complications during labour and delivery.

(3) Sepsis

(4) More weight at the time of birth.

Which of the following is not relevant for liberal feminist ideology ?

(1) Accepting male values as human values.

(2) Over-emphasizing the importance of individual freedom.

(3) Promoting educational and legal reforms.

(4) Accepting women by nature are less intellectually and physically capable than men.
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22.

23.

24,

25.

26.

27.
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28.

29.

30.

31.

32.

Among the following feminists who compared the “privileged women to birds confined to
the cages, who have nothing to do but plume themselves.”

(1) Betty Friedan (2) Mary Wollstone Craft
(3) Alison Jaggar (4) Harriet Taylor

Which of the following one is incorrect about the criticism on Gender Empowerment
Measure (GEM indicators) ?

(1) GEM represents an elite bias as it has not reflected women in grassroots
organisation.

(2) GEM not reflects women’s work in lower levels of employment or informal sector.

(3) GEM has failure to address the issue of female control over their bodies and
sexuality.

(4) GEM analyses the participation in high paying position of women with economic
power.

Arrange the following Acts according to the year of their enactment :
I.  Special Marriage Act

Il.  Hindu Succession Act

1. Hindu Widow’s Remarriage Act

IV. Age of Consent Act

Code :
@ nLuaLv (2 nL v, L
(3) v, uLLn 4) 1L Iv,

What is/are the benefits of education towards development ?
l. Increases productivity

Il.  Reduces economic inequality

I11.  Improves health and reduces fertility.

IV. Contributes to democratization.

Code :
(1) Il only (2 LI, v
(3) land IV only (4) Iland Il only

Who is a writer, an activist and a social worker ?
(1) Aruna Jayanthi (2) Gazalla Amin
(3) Jayanti Chauhan (4) Kavita Krishnan
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FT:
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1. o7fees STumar § ot
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ETE
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33.

34.

35.

36.

37.

38.

Who advocated ‘Biological revolution through Reproductive Technology is essential for
Liberation of women’ ?

(1) Shulamith Firestone (2) Juliet Mitchell
(3) Marilyn French (4) Julia Kristeva

How many states in India as on April, 2016 have Women Chief Ministers ? Which
number of the following is correct ?

(1) Three States (2) Six States
(3) Five States (4) Four States

Who among the following is the first Women Judge in India ?
(1) Leila Seth (2) Fatima Beevi
(3) Ruma Pal (4) Anna Chandy

Commenting on “Refining Methods of Study”, who wrote ?

“..... a positive feature of feminist method is the attention it pays to contexts rather than
predefined, operationalized hypotheses.”

(1) Lie Stanley (2) Nancy Kleiber
(3) Noeleen Heyzer (4) Maithreyi Krishnaraj

Assertion (A) : Digital technologies have boosted growth, expanded opportunities and
facilitated safety and security measures for women.

Reason (R) : Some of the States in India have initiated ‘Abhayam’ and ‘I Click” Apps for
safety and security of women who face dangerous threats by men.

In which of the following is correct ?

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

How many women members the Constituent Assembly of India had ? Which is the correct
number ?

(1) Nine (2) Six
(3) Eleven (4) Fifteen
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33.

34.

35.

36.

37.

38.
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30.

40.

41.

42.

Which are the variables responsible for female foeticide in India ?
l. Value System

Il.  Development paradigm

I11.  Institutional framework

IV. Backwardness

Which of the following is correct ?

Codes:
(1) I, lland Il are correct. (2) 1V only is correct.
(3) lonly is correct. (4) I, lland IV are correct.

The protection of Children from Sexual Offence Act (2012) incorporates the following
child friendly procedures for reporting and recording of evidence :

l. No child to be detained in the police station in the night for any reason.

Il.  Police Officer should not be in uniform while recording the statement of the child.
I11.  The statement of the child to be recorded as spoken by the child.

IV. Recording the statement of the child at the police station.

Codes :
(1) I, Iland I are correct. (2) 1, 1l are correct.
(3) I, land IV are correct. (4) 1,11, 1l and IV are correct.

At which of the following conferences on Women in Police, the Home Minister declared
that the Home Ministry has issued instructions for 33 percent recruitments of women in
the police in Union Territories ?

(1) 5™ National Conference on Women in Police.
(2) 4™ National Conference on Women in Police.
(3) 6™ National Conference on Women in Police.
(4) 7" National Conference on Women in Police.

The variables included in the subindex of Economic Participation and opportunity of the
‘Global Gender Gap Index’ are :

l. Ratio of female labour force participation over male value.

Il.  Ratio of female estimated income over male value.

I1l. Ratio of female legislators, senior officials and managers over male value.
IV. Ratio of female professional and technical workers over male values.
Codes :

(1) land Il are correct. (2) I, 11, 1l and IV are correct.

(3) land Il are correct. (4) I, 1land IV are correct.

Paper-111 22 J-74-16



39.

40.

41.

42.
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43.

44,

45.

46.

47.

Which of the following criteria are used in Census 2011 as the basis for declaring Gender
Critical Districts ?

(1) Low Sex Ratio and Low Female Literacy Rate.
(2) Low Child Sex Ratio and Malnutrition.

(3) Low Sex Ratio, Low female Literacy Rate and Low Female Work Participation
Rate.

(4) Low Female Literacy Rate, Low Workforce Participation Rate and Low Political
Participation Rate.

Who said “If women’s work were accurately reflected in national statistics, it would
shatter the myth that men are the bread winner of the world” ?

(1) Amartya Sen (2) Caroline Mosser
(3) Mahbub ul Hag (4) Esther Boserup

Which of the following are the correct statements about women’s studies ?
Use the code given below :

l. It is basically an area of study about women’s issues.

Il. It examines the world and the human beings from a feminist perspective.
I11.  This discipline has emerged merely as a causal event.

IV. Itis the result of a conscious effort of feminist movement.

Codes :
(1) I, 1, 11, 1V are correct. (2) 1,1l and IV only are correct.
(3) Hland IV only are correct. (4) 1V only is correct.

Which of the following are the effects of HIV on Human Immune System ?

I.  The person is attacked by infectious diseases caused by bacteria, virus, fungus etc.
Il.  Opportunistic infections affects every organ system.

I1l.  Affected people may develop various cancers of the Immune System known as

lymphomas.

IV. Systemic Symptoms of infections like fevers, sweats, swollen glands, weakness and
weight loss.

Codes :

(1) I, I1and I are correct. (2) 1, 1l and IV are correct.

(3) land IV are correct. (4) 1,11, 1l and IV are correct.

‘Beti Bachao' and Beti Padao’ has been officially launched till first quarter of 2016 in how
many districts ?

(1) 262 Districts (2) 266 Districts

(3) 100 Districts (4) 161 Districts
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44,

45.

46.

47.
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48.

49.

50.

51.

Under Hindu law, on which of the following grounds both husband and wife can obtain a
divorce ? Viz. : if the other spouse :

l. Lives in adultery

Il.  Converts into other religion
I1l.  Suffers from insanity

IV. Adopts renunciation

Which of the following is correct ?

Codes :
Q) 1, 1, 11, 1V correct. (2) I, 1land IV only are correct.
(3) I, 11 &IV only are correct. (4) I, 11 &Il only are correct.

Which of the following are correct about the punishment for offences under ‘protection of
children from sexual offence Act’ ?

l. Penetrative sexual Assault - Not less than seven years
Il.  Aggravated penetrative sexual Assault — Not less than ten years
I1l.  Sexual Assault - Not less than three years
IV. Sexual Harassment of the child - Not less than two years
Codes :

(1) I, Il are correct. (2) I, 11, Nl and IV are correct.

(3) I, 1L, Il are correct. (4) 1l and IV are correct.

Which State among the following has Common Civil Code ?
(1) Kerala (2) Nagaland
(3) Goa (4) Jammu and Kashmir

Assertion (A) : Women are active throughout the disaster management cycle in
mitigation, prevention preparedness, emergency response and recovery.

Reason (R) : The activities of women remain invisible and undervalued which suggest
that the gender dimension should be incorporated into disaster prevention,
mitigation and recovery.

Which one the following is correct ?

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.
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52.

53.

54.

55.

56.

Female labour force participation is negatively impacted by
(1) Women’s interest in extra curricular activities

(2) Spread of Mass Media

(3) Women’s self perception of need to work

(4) Prevalence of information technology

Which of the following Goal with Target of the Sustainable Development Goals says :
“By 2030, achieve full and productive employment and decent work for all women and
men, including for young people and persons with disabilities, and equal pay for work of
equal value” ?

(1) Goal5.4 (2) Goal 11.1
(3) Goal 16.6 (4) Goal 85

On which of the following precepts is the UNEP discussion on gender and environment
based ?

I.  Gender mediates human/environment interactions.

Il.  Gender roles shape all forms of human relationships to the environment.
I1l.  Gender mediates all environmental use, knowledge and assessment.

IV. Gender expectations and norms shape environment-human relations.
Codes :

(1) I, Hland IV only (2) 1, Hland IV only

(3) I, ITand Il only 4 L1 and IV

Which are three constituents or properties of theory ?
(1) Description, Explanation, Reflection

(2) Explanation, Classification, Verification

(3) Reflection, Prediction, Classification

(4) Explanation, Prediction, Verification

Which of the following is the correct number of women awardees of Dada Saheb Phalke
Award till 2015 ?

(1) Three (2) Four
(3) Six (4) Eight
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57.

58.

59.

60.

61.

Which is the most severe form of social stratification ?
(1) Caste (2) Gender
(3) Class (4) Race

Which among the following States in India has the highest percentage of female
population in the age group of 70 plus (2011 Census) ?

(1) Andhra Pradesh (2) Himachal Pradesh
(3) Maharashtra (4) Kerala

Gender inequality Index is calculated on the basis of the following :
l. Reproductive Health

Il.  Women Empowerment

I11.  Political leadership

IV. Labour market participation

Codes :
(1) I, and IV are correct. (2) I, 11, I are correct.
(3) I, 1l and IV are correct. (4) land Il are correct.

Which is correct about theory?
I.  Atheory by itself is an abstract proposition that cannot be tested.

Il. A theory is based on inductive empirical data but a process of deduction can only
construct a theory.

I1l. A theory can generate a hypothesis that can be tested.

IV. The reliability of a theory lies in the testability of its hypothesis.
Codes :

(1) I, 1, 11, 1V are correct.

(2) HNland IV only are correct.

(3) lonlyiscorrect.

(4) land IV only are correct.

Which of the following problem can be better studied by Quantitative method of data ?
(1) Attitude of men and women on contraceptive use.

(2) Male and female wage rates in the informal sector.

(3) Women’s experiences of the constraints of working in the informal sector.

(4) Men’s and women’s views on the causes and consequences of domestic violence.
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57.

58.

59.

60.

61.

HHTRTeR T0T ol a9 371k Al T i G & ?
(1) T (2) fem
(3) = (4) v

Ffefad o @ fofa 59 § 70 a9 & 21fys 39 998 (2011 S SFIOFT % 3TER) | Afeetrsti

TG Uiaq9Taar Feitaes € 2
(1) 3Ty wewr (2) feurEe W
(3) weRTZ (4)

AT STEATAT ok i TUMET FHEfARad & YR I i Sl ¢
I o e

Il. A gl

I,  TSHITS e
IV. =9 9eR 9 9rieR
% :

Q) LTIV aEEe | () 11T T E
() I, T IV & E (4) Tl g |

fagicr o fomra o A @ @R & 2

I, U Tasid 310 319 | 37 wideina ¢ el W@ el ST e |

Il. U fogid o 3Tiehel W SMeRd &, fohq Fmem ufsear g1 &t fagia =t fafwior
T |

. U fagia U IR i 3aard o Tehdl © ST TAToTd fohaT ST 9ehell & |

IV. Tt fagia = fovaamiaar SHe TiehedT i Jmihar | fHfed € |

&<
@ LI IVEE (2) A 1l qr IV T e |
(3) et | W@ | (4) HaA | TNV T E |

Treteiad 5 9 o6 TH@ 1 3Tihel i AT UGId FRT SeaR STead ol ST 9ehal € 2
(1) FHEUled & TN W I&Y T St & FER (Hgh)

(2) ST & H T T Afeetral & i 57

(3) SHIT=IR & H Aigeal W HH-3ad H S

(4) =R fEQr & HROT a9 gRoTE W qeNt qer Afeetel & faem
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62.

63.

64.

65.

66.

In which sector of the following there is highest Gender Pay Gap as per the Monster
Salary Index Report (2016) ?

(1) Information and Communication Technology
(2) Financial services, banking, insurance

(3) Manufacturing sector

(4) Education, research

Assertion (A) : Despite anti-dowry legislation in India, a conspicuous increase in dowry
has been witnessed.

Reason (R) : Dowry in the larger sense refers to cost of wedding celebrations and rituals,
gifts, the property or cash demands made by the groom’s family.

Which one of the following is correct ?

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3 (A)istrue and (R) is false.

(4) (A)is false, but (R) is true.

Which of the following is correct about participant observation ? Use the code below :

l. It means to have intense social interaction between researcher and subjects in the
milieu of the latter.

Il.  Itis used to generate a theory rather than to test it.

1. It is used to describe the complexities found in the situation with a minimum of a
priori theorizing.

IV. It cannot be used with standardizing operating procedures.

Codes :
(1) Tlonly (2) MNand Il only
(3) I Nland IV only @) LUV

The Muslim Personal Law (Shariat) Application Act was passed in :
(1) 1959 (2) 1939
(3) 1937 (4) 1927

Who started the Ladies Theosophical Society in India ?
(1) Rassundri Devi (2) Swarnakumari Devi
(3) Pandita Ramabai (4) Annie Besant
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62.

63.

64.

65.

66.

AR Aor! 35 Rl (2016) & AR Fefefad &= & 9 fhaw seaan i oa o € 2
(1) o 31T YR qheh (2) fo<ir Fard, S, s
(3) TafHmr &= (4) T, srgEaE

afieme (A) : 9T H 32T oRie A & g seeT § T Tkl S@ TS |

FROT (R) : o0 TURE], <M & STESHN § SUER, FUid a1 Tt Sl a3 TeT &1 3 F Ji
T 9] 5 T HROTE |

fefeiEd o | i &1 9@l 8 2

ETE

(1) (A) 7= (R) 31 T@l & 7 (R), (A) 3 & AR E |

(2) (A) @ (R) IH &l € fhd (R), (A)  Tel e T8 ¢ |

(3) (AT e, g (R) T ¢ |

(@) (A) @ E, B (R) e |

T 6t feoon & SR § Fefefad @ @ i 9 € 2 9 ST T % S s Y

I,  TUH Ade SEUHEAT HR TEN-SAEl (Feeed) % ate StRadl & UReeT § e
TN SR LT |

[I. ST T Uk MEgid ol AR R & [T, T T ST W01 2 & [T, fhan STan & |

[l. THeH FaH qaadt fegidieor (TR eaRrEhm) & qr uRkiefs § e 18 sfeeanst &
U A & T gt T ST € |

IV. TTH OFhiHd F- aTel ToTer AhaTeT & 9re U el fhar ST Hehel |

ag—a:
(1) e | (2) Faet 11 37
(3) Fae I, 1l 3R IV @) 110,11, 1V

i gdqet ot (IREd) fafam stufm oid o & ad o
(1) 1959 (2) 1939
(3) 1937 4) 1927

ORA H A [aaifthehel TAEE! o1 3R T fomar o 2

(1) T e (2) TEOTHARY
(3) dfed HETE (4) w T
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67.

68.

69.

70.

The variables included in the subindex ‘Political Empowerment’ of the Global Gender
Gap Index are :

l. Ratio of females with seats in Parliament over male value.

Il.  Ratio of females at Ministerial level over male value.

I1l. Ratio of females with seats in Panchayati Raj institutions over male value.
IV. Ratio of number of a female head of state (last 50 years) over male value.

Codes :

(1) I, 11, 11 are correct.

(2) I, 11,1V are correct.

(3 I, 11, Il and IV are correct.
(4) 1, 1l are correct.

Which section of Hindu Marriage Act, 1955 provides for Restitution of Conjugal Rights ?
(1) Section 15 (2) Section 12
(3) Section 11 (4) Section9

Select the correct sampling technique where ‘each person interviewed may be asked to
suggest additional people (Respondent) :

(1) Snowball Sampling (2) Quota Sampling
(3) Random Sampling (4) Cluster Sampling

Assertion (A) : The media is a carrier of information, ideas and a vehicle used to entertain
as well as influenced mechanism for education and socialization of women.

Reason (R) : The media perpetrates violence against women through pornography and
body language by advertisements.

Which one of the following is correct ?

Codes :

(1) Both (A) and (R) are wrong.

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(3) (A)is correct, but (R) is wrong.

(4) (A)iswrong, but (R) is correct.
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67. ToAleeT SeT Y ST o ST HRITRIehIoT & 3T gaeh | IMHeT =X &
I, & % o H HEE | ARG b AT
[I.  T&9 & qorT § Tl TR R Aieerst & S
[l T%S 6 g1 B et 9T Gene °§ aeenst & fow die s
IV. T&9 & o1 | T 50 aut o SR Afeell I59 T Sl & 3T

(1) LILIITEE |

(2) LILIVEEE |

(3) LILIIARIVIEIE |
(4) LU

68. f&g foame sifufTam, 1955 &1 i T &RT MU TATRITHAT TR URT T § 2
(1) k=T 15 (2) =T 12
(3) uR=sg 11 (4) UR=T9

69. W&l THAT TehiIeh (T 2hiTh) T TF Y STAH WIETEhR {o1dT T Uedeh etk § Sifaierd
ATl (Veell) T GeId S T Hal T E
(1) TAeTet ST
(2)  ieT i
(3) Tgr® () Tt

(4) TR (ForeX) Jefent

70. AfHER (A) : TifeH A, ORI F UF A6F ¢ SR T8 TS FA & (o0 S Afeerat

ToTeTT Wa HTSTIhoT o foTU & o feTT vt Ueh | ot & |

HROT (R) : wifear qi-mTh ue fommomt & gRy siel et & Arem 9 wiearnet & foeg fEar &
AT

e & 9 &9 et § 2

ETE

(1) (A) 3R (R) IHI Teid & |

(2) (A) 3R (R) 3HT Tt &, Wl (R), (A) T Tt ARAT el & |

(3) (A) T T, Af (R) TTord € |

(4) (A T &, ST (R) TR € |
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71.

72.

Read the following paragraph and answer question numbers (71 — 75) :

The most notable variant in income, labour market status, the division of labour is
gender based. On average, women participate less in the labour market than men, whereas
they assume the lion’s share of unpaid work in the household. Women also tend to be less
well paid than men when they do work, and they occupy jobs with lower job security,
fewer prospects of advancement and less responsibility. Often, these inequalities spill over
into a gender gap in political preferences and voting behaviour. Following Becker’s
seminal work on the family, economists have traditionally explained the gender division
of labour as an outcome of a coordination game where a more or less complete division of
labour is the efficient solution due to increasing returns to human capital. Although
biological advantages of women specializing in household skills are rare in a modern
economy. Such specialization may be reinforced by childhood socialization in which
parents rationally seek to impart values on their offspring that will maximize their chances
of success later in life. Since gender roles are assigned before “true” preferences are
observable, the coordination game is solved by using inherently small, gender differences
as the cue. But the efficiency model captures some key aspects of family as an institution,
it is incapable of accounting for the stark difference in female labour force participation
across economies at comparable levels of development, and it fails to explain why there is
so much variance in the distribution of house work between the sexes after controlling for

hours spent in paid work and earning.

Prominent Gender based discrepancy includes

l. Difference in income Il.  Better prospects for progress
1. Labour market status IV. Division of labour

Codes :

(1) land Il are correct. (2) I, 1lland IV are correct.

(3) I, I and Il are correct. (4) landlV are correct.

An average increase in women’s participation relative to men in the labour market will
mean that women :

l. Occupy secure jobs Il. Have better prospects of progress

I11. Do unpaid work in the household V. Assume more responsibility

Which of the following is correct ?

Codes :
(1) I, lland IV are correct. (2) land Il are correct.
(3) I, 1l and Il are correct. (4) landlV are correct.
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71.

72.

17 ORI =Bt TgT e U9 | 71 9 75 & St¢ a1 ;

A, ¥ GNIR T § 9a9 e Sool@ g URac, HH T OIS o Ui & |
3MgeH, Tfeed o6l ol qorT § 970 ISR § %0 96 ofdl ¢ e of JR-9NaR § 318 $Hd
TehieT e TB0T Xl € | Afeeid ST S Il & O 3% HH P H B Ugh off &t g,
3T o U I Hct & S0 BT (SieT) i T GRET &l &, TRFh! Bl eI GHISAT &t § 3
FHY ITEITE &Il € | R, T IHAFA Toiiaes SAEaET I e eeii 4 U it
3R % T H SR H G 3T S & | TNER o S0 o o SIS i o ST STeemierar
T 59 % AT fouSH FI URERE ¥ H UH GHEERRI T & IR0H & w9 H W fF5E
fSrae s o1 3tferes a1 0 qui forvTo, THa Ustt o Sgd AT i o5Te 9, FHErel THTH B ¢ |
T T-IRER & BTl § foRISsrar W@ At dfeersti & S was sy sriegewr § agd
FH E | U e arearee foRiuRr % gRT Yeerkd aidl & SEH Ha-fuar o Tae w5
T TR TS Hod YR AT 96 & S S § 915§ hrEaet s T9en st 3§
e T | ik TS iRt e “TEr SEm % qeHE g ¥ uee Mg
ST € ST, TSR WA T SFd SIC-HIS, Tl 3R Sl Hobd o &9 H oI §¢ THEH
foham ST & | AR, FRIGRTCIT HigeT Ush TEM o ¥ | URAR & $8 T{E Teelel &l nmied
AT 8, T Tkt % o TR W Saeet H Afgel 99 Sof TeWIiTdr § |4 3R 1 ol-
SET WA H 3T &, 3R 98 39 91 Sl WL HA § TG & A & o 39 HE (U aeh) | ot
2l % T & 9% forrl (AT e qee) % s Te-hd % foeeor § gant et = § |

for arrenfea v erania & S 9N € 9

I oTEe | 3R Il. TR & T dgeR HeH
. &9 IR et V. &9 & o=

&<

(1) 1@ E ) LI SRIVEE |

(3) I, 1SR T E (4) 13IVIET

S ST | Qo1 shi STURTT WigeTall sl TwiiTar # iqe St 1 31 7 g fob Afgend :
I R Aot ama | Il. TR Sl TR GHIEATE 2 |
I, TRINER A 37T I HAT | V. 3R Ay Sart meor &t |
ffefad & & =i & & 2

ETE

Q) 1L N3ARIVEEE () 13RITHE |

(3) I, 13RI T E (4) 13IVIT
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73.

74.

75.

Recent political economy arguments do not link gender based segregation to :
(1) Difference in income

(2) Employment status

(3) Gender based division of labour

(4) Women being better paid than men

Assertion (A) : On average, women participate less in the labour market than men,
whereas they assume the lion’s share of unpaid work in the household.

Reason (R) : Women also tend to be less well paid than men when they do work in labour
market.

In the context of the two statements, which of the following is correct ?

(1) (A)iswrong, (R) is correct.

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(3) (A)is correct, (R) is wrong.

(4) Both (A) and (R) wrong.

Despite capturing the idea of family as an institution, the lacunae in the efficiency model
is manifest in its :

l. Inability to account for the prominent discrepancy in female labour force
participation across economics at comparable levels of development.

Il.  Comparison of incomparable economies.
I1l.  Failure to explain the discrepancy between the sexes in the housework distribution.

IV. Not accounting for hours spent in paid work and earnings.

Codes :
(1) land Il are correct. (2) landllare correct.
(3) I, I, Il are correct. (4) land IV are correct.
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73.

74.

75.

T Tt TSI STHEHET Fadl | o7 SEa Gl & Hetarad § ¥ fhaeh |1 el Siet
ST 2

(1) o= | 3R

(2) ISR ferfa

(3) = = TorT 3R forvrs

(4) TOS A T | AREEST Sl TRaR ST AT ST |

AfFe (A) : AfeATd ST GEH Bl ol § 98 SR H 5 9 ofdl § S6ih o Z-IRar §
35 Y H T e T RA & |

HRUT (R) : AT S99/ SR | A HAl & O 3D GOl Sl o1 § HH I HZ S
g @l § |

T o & Gl § Fefered o @ - @ e o

HT !

(1) (A)Teae, (R)TEE |

(2) (A) 3R (R) 31 Tt €, AfehA (R), (A) T Tt AR &l & |

(B) (A)WE, (R)Toae |

(4) (A) 3 (R) IH 7o € |

IRAR 1 Tk T 6 €T | oH H [T6R T & FEs HE-Feral Jiea ®I QHl 9 69
T H e & S € 2

I Toog & g TRl I STiegawnal H Aieell S/ a0t Sl WewIiTar § J& ST & ol
ST T i ST |

I, 3IqeHE sriegaenet & qomT

. T foaror | forl o ofie i ST ot T - i aherd |

IV. 39 P X FHAE § o oTet el & G931 AG-SET Fei T |

FT:
(1) 13T TE (2) 13RITE |
G LI N E (4) 13IRIVIEE |
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